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The solution set of the equation X3
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I'he degrex
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Given that f(x) ~ loga(x -+ 2), then [ (2)




seasing and Increasing




Question No. 10

Which of the following statements is always true.

f a quadratic function is a straight line

(T
(=]
3
V)
o
J

a quadratic function passes through the point (0, 0)
a quadratic function is the set of all real numbers

I symmetry passes [h!’OUgh thewertex
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& bo a complex number and f(z) = z* — 22 — 12. If z — a is a factor of f(x) then

o ¥ a is a factor of f too.

® +ais a factor of f too.
® —z—aisafactor of [ too.
® f(z+a)=0.
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- 3% + 2.







Question No. 6 il

i j‘w and g(x) = . Determine the domain of the productof f(x) and &%
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Question No. 8

.«ﬂf
The equation x = 2 — log; y is equivalent to the equation

x =327
Y 37
i — 3¢
iy = 3x—2




of the quetient of the division (X

I'he degrex
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Lot f(x)

i wud g(a)

Vi6=2". Pind the domain of (%) @).
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Question No. 23

T'he solution set of the following equation:| 2
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Question No. &
such that the line ¥ (b+ 2)x + 2 is paralle] the line &'x — ¥ 3

Let b€ R\[~1}. Give the value of &




Question No. 21

1t x-4 1 a factor of the polynomial f{x)

() 4
f(-9=0
f#) =0

f(0) = 4

then






‘[ LL L

Question No. §
Solve-02<07-x= 14

no solution
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Guestion No. 12

vl of o such that the quotient of dividing,

Letac R\[1}. Find the

Jlz) =2+ (1 A ya’e~1 by z-a W 2 7







| Question NU. &

| — — e N S L) L

Determine the solution set of the following inequalit;

—4—x<—X
9 5= (—0—4)
= (—o0,)
s = (4,%)
S =¢
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Question No. 13

The equation ¥ = 3% can be written u

|
Q@ x=1+logy

@ x &log, y
© x=logs(y+1)
y=1+logyx
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| Question No. 16
| Let a € R. Give the value

of a such that the point (1, 1) belongs to both lines az + a’y =6 and o’z + 2y = 11.

©a=3
@a=1
Qa=—3

©3=1



Question No. §
that the line y = (b+ 2)x 2 is parallel to the line ¥z —y =3

Let b€ R\{~1}. Give the value of b such




Question No. 15

5 : 3 A . (T—a)(r-p N 2

If a <b < e, solve the inequality \r”\’,x;) <0k
(_‘\.11]
[2.8] U (¢, o)
2, o)

Ao :\‘1111:[/,".}




The equation X = 3y — 1 is equivalent to the equation

@ y=logg(x+1)
© y=logs(x—1)
) x = logz(y +1)
x=logz;(y —1)







“ Question No. 10 ]

If 5 isazeroof f(x)= e U b e 20‘,'then other zeros are

P4 1
D 4.1
J 41

4,1






NO. 286

2\ {}}. Give the value of b such that the line y = (4b - 5)z + 2 is perpendicular to the line br — |
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Question No. 10




Question No. 11

e
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Question No. 15

¢, solve

the mequality




olal que

Question No, 18

1 asymptote to the graph of f(x)

J
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Question No. 17

Find the axis of symmetry of y = 2(x —5)2+ 3







Question No. 22

P

Write the equation of this parabola in vertex form.

(TIITII
o

R .

y=2(x+3)*+2

y=(x—-3)32-2
y=2(x+3)*—
2(x—3)*—

2

2



g inequality

Determine the solution set of the followin

4 — X X

s = (—o, 4)
= (—o,0)
(4,)







Write the equation of this parabola in vertex form.
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Question No. 10

Which of the following statements is always true.

of a quadratic function is a straight line

a quadratic function passes through the point (0, 0)
a quadratic function is the set of all real numbers

S of symmetry passes through thewertex
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Question No. 1

Y€ the inequality




1% 0 polynomial such that f(2)

2) equal




+aisafactor of f too.

: ~2 + a8 a factor of [ too.
(¥ =z —ais afactor of f too.
° [l +a) =0

i ‘("L
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Question No_ 28

It f(x) is apolynominl such that the remainder of the division f(x) + (x 1)

equals 6 then
* f(~1)=~6
/(6) 1

J(1) =6
f(6) ~ 1
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Question No. 24
(z—h)*+k increases and decreases are

Let a > 0. The intervals on which the function f(z) =a

@ Increasing on (—oo,—h), decreasing on [k, 00)

@ [Increasing ou(—o0, k), decreasing on (k, c0)
@ [ncreasing on [k, 0o), decreasing on (—oo, |

@ [Increasing on (—o0, ), decreasing on (—oo, k)
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Question No. 25
IT%-2 is a factor of the polynomial fix) ther

-
(o)
Il
N

f2)=0
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Question No. 17

Find the axis of symmetry of y = 2(x — 5)2 + 3
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Question No. 16

Which of the following functions is 1

F={(3.5), (6,0, (7.-2) (1.-5)}
F={(4-3)

{(-3,-2),(0.4). 32) (1.5

F={(6.-3), (0!5), (4.-2) (1 .2
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Question No. &
of b such that the line y (b+ 2)x + 2 is paralle] t the line ¥z —y =3

Let b€ R\{~1}. Give the value
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1oLl Questions in ox

Question No. 19




Question No. 6

Determine the domain of the productof f(x) and g(¥/




+aisafactor of f too.

: ~2 + a8 a factor of [ too.
(¥ =z —ais afactor of f too.
° [l +a) =0

i ‘("L
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Question No. 21

The equation x —

2 —log, y is equivalent to the equation







Question No. 6

Determine the domain of the productof f(x) and g(¥/




The solution set of the equation
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Question No, 22

1T f(x) is a polynomial such that £(2) - 3 then the remainder of the division

[ (¥~ 2) equals
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Question No. &

Let b e R\[~1}. Give the value of b suc

4 that the hine y

(b+ 2)x+

2 is parallel to the line &' — ¥ =
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Question No. 20

he solutionset of the following e

quation:| x-2
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Total questions in exam 25 | Answered: 0

Question No. 21

The equation x = 2 — log; v is equivalent to the equation

y = 3Jx-2
X = 3_‘~\
y = 32~
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| Question No. 16

| Let 2 € R. Give the value of a such that the point (1, 1) belongs to both lines az + a’y =6 and o’z + 2y = 11.

©a=3
@a=1
®a=-3

(_}3:1



s mexam 28 | Answered: 0

Question

¥ + a is zero then

mainder of the division of f(x) by

factor of the polynomial f(x)
r of the polynomial f(x)
1s a factor of the polynomial f(x)

@ isa factor of the polynomial f(x)
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Question No. &

Let b e R\[~1}. Give the value of b suc

4 that the hine y

(b+ 2)x+

2 is parallel to the line &' — ¥ =






_atisafactor o A polyporm

ial funetion f(x) then

Ml(ﬂmrlxol
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Cy=2x43)-,
y y=2(x-3y -2
Y r=2x43) 4
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The equation X = 3y — 1 is equivalent to the equation

@ y=logg(x+1)
© y=logs(x—1)
) x = logz(y +1)
x=logz;(y —1)




/lll%l%l,,;:m
cssrsazas:




Yy=2x4+3y-;
VT y=20x-3y-3
’ )"2(!-}3)34.2
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 No. 14

Ji+2 andg(x)=3x~5. Thedomainof (f*g)x) is
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Answered: 0

Question No. 21

The equation x

logy y is equivalent to the equation
y =3%2
X 3 2=~y
V SA X
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Question No. &

Let b e R\[~1}. Give the value of b suc

4 that the hine y

(b+ 2)x+

2 is parallel to the line &' — ¥ =



+aisafactor of f too.

: ~2 + a8 a factor of [ too.
(¥ =z —ais afactor of f too.
° [l +a) =0

i ‘("L









Question No. g

1§

vx+3 and \X)=vx—-4 |)t‘trmnnrlhrdunmumf‘/’
\ - R 1\
€ |3, 4]




Lot f(x)

wliia wod 9(x) = VIB= 2. Pind the domain of (£) (z).
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Question No. &

Let b e R\[~1}. Give the value of b suc

4 that the hine y

(b+ 2)x+

2 is parallel to the line &' — ¥ =



Juestions in exam: 25

Answered: 0

Question No. 21

The equation x

logy y is equivalent to the equation
y =3%2
X 3 2=~y
V SA X




Total queshions in cxam 28 | Answered 14

Question No. &

Let b e R\[~1}. Give the value of b suc

4 that the hine y

(b+ 2)x+

2 is parallel to the line &' — ¥ =
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Question No. 21

The equation x

2—log, v is equivalent to the equation
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| Question No. 16

| Let 2 € R. Give the value of a such that the point (1, 1) belongs to both lines az + a’y =6 and o’z + 2y = 11.

©a=3
@a=1
®a=-3

(_}3:1
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Question No_ 2

is 6, then f(z) is equal to

¢ and the remainder of







e e et

|

———————

i The Soltion set of [7x 8] +8< 1 is
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o 2

=
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Queaten No I

» compound tooquality

Jute value pogquality &

Rewrite this absol
TERL
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Question No. 13

The equation ¥ = 3% can be written u

|
Q@ x=1+logy

@ x &log, y
© x=logs(y+1)
y=1+logyx



Question No. 15

If <b < ¢, solve the i“(‘qllulit‘\: w e
Ri== DO, 41]
:;41,1:‘\ J “.. \’
2, 00)

(- x‘,;};;[/,.‘.)
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| Total questions in Exam: 25 | Answered: o

Question No. 7

The domain and the range of f(x) = 2xis
i
all real numbers
all negative real numbers
all positive real numbers

all non-zero real numbers (X










+aisafactor of f too.

: ~2 + a8 a factor of [ too.
(¥ =z —ais afactor of f too.
° [l +a) =0,
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n No. 22
3 ivisi iy & - is ze hen

smainder of the division of f(x) by x + a is zero 1

 a factor of the polynomial f(x)

- a factor of the polynomial f(x)

a is a factor of the polynomial f(x)

@ isa factor of the polynomial )
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Question No, 19

Finditho funetion f(2) such that (fg)(z)
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Question No. 11

¥ can be wnitten as

The equation
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Question No, 19

Finditho funetion f(2) such that (fg)(z)







y{the followir g equation

ution set¢
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Question No. 17

Find the axis of symmetry of y = 2(x — 5)2 + 3







Totat questions o exam 38 | Anwweved 1

% o 6, then f(x) s equal to

and the remainder of £
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Question No, 20

he solutionset of the following e

quation:| x-2 |
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Question No. 22

I f(x) is o polynomial such that £(2)

3 then the remainder of the division
FOO (X~ 2) equals
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Question Ne. 25

Lot b€ R\{}). Give the whue of b wuch that the line
@p-a

v

(4

5)2 4 2 in perpendicular  the line b — y = 3.




Question No. 25

fx2isaf

Y
3
3 ~
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Question No. 15

Fac<her, solve the nequality W <0, for z
B T—0) — Y R

(—00,q

{u. lr\ U (e, >0)
[414 20)

(=00,4] U [b.¢)
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Question No. g

The Solution se

SOf 2174 o
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Question No. 21

The equation x —

2 —log, y is equivalent to the equation




“Total questions in exam; 28 | Answerad &

Question No. 13

The equation y = 3% can be written u

|
@ x=1+logy

9 x J-\l()g, y
x = logg(y + 1)
y=1+logyx
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Qurston Wo. 13
The equation y ~ 3*
=14 dogy y

x l3log, y

x = logy(y + 1)
y=14logyx




U If 5 isa zero of £(x)-
@4

@ 4 1
© 4, 1
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+aisafactor of f too.

: ~2 + a8 a factor of [ too.
(¥ =z —ais afactor of f too.
° flz+a) =0
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Question No, 22

It [(x) 18 a polynomial such that [(2)
[0 (X 2) equals

3 then the remainder of the division
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Question No. 15

¢, solve

the mequality







Question No. 10

Which of the following statements is always true

The graph of a quadratic function is a straight line

The graph of a quadratic function passes through the point (0, 0)

range of a quadratic function is the set of all real numbers

symmetry passes through thewertex
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Question No, 18

The vertical asymptote to the graph of f(x)
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Question No, 24

‘The horizontal asymptote to the

y=.2
X =2
y=3

wered: 0

graph of f(x)

3%

1

=2






+aisafactor of f too.

: ~2 + a8 a factor of [ too.
(¥ =z —ais afactor of f too.
° [l +a) =0,
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Question No. 15

Fac<her, solve the nequality W <0, for z
B T—0) — Y R

(—00,q

{u. lr\ U (e, >0)
[414 20)

(=00,4] U [b.¢)
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Lot f(x)

Question No. 18
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Question Ne. 25

Lot b€ R\{}). Give the whue of b wuch that the line
@p-a

v

(4

5)2 4 2 in perpendicular  the line b — y = 3.




Question No. 10

Which of the following statements is always true.

of a quadratic function is a straight line

a quadratic function passes through the point (0, 0)
a quadratic function is the set of all real numbers

S of symmetry passes through thewertex
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Question No. 11

'he solution set of -416

(-*,10] U [2,%)
(-*,2] U [10,%)
(~*.0] U [12,~
(-*,12] U [0,




Question No. 12

The function f(x) = 3x+x2 —6is

Linear
Cubic
Quartic

Quadratic




Question No. 10

Which of the following statements is always true

The graph of a quadratic function is a straight line

The graph of a quadratic function passes through the point (0, 0)

range of a quadratic function is the set of all real numbers

symmetry passes through thewertex
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Question No. 14

32" -+ 1022 + gz + 3
l ‘l. the vy llll" ol a S\(
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h that the remainder of

is zero.




Total questions in exam: 25 | Answered: 0

Question No. 15

Fac<her, solve the nequality W <0, for z
B T—0) — Y R

(—00,q

{u. lr\ U (e, >0)
[414 20)

(=00,4] U [b.¢)
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Question No. 14

Find the value of a such

| Answered: 0

: 3
1 that the remainder of

3 + 1022

r +

+azx + 3
1

is zero.
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Question No, 18

The vertical asymptote to the graph of f(x)
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Question No, 19

Finditho funetion f(2) such that (fg)(z)
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Question No. 16

Which of the following functions is 1

F={(3.5), (6,0, (7.-2) (1.-5)}
F={(4-3)

{(-3,-2),(0.4). 32) (1.5

F={(6.-3), (0!5), (4.-2) (1 .2
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Question No. 17

Find the axis of symmetry of y = 2(x — 5)2 + 3
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Question No. 17

Find the axis of symmetry ofy=2(x—5)2+3
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Question No, 20

he solutionset of the following e

quation:| x-2 |
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Question No. 21

The equation x —

2 —log, y is equivalent to the equation
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Question No, 22

It [(x) 18 a polynomial such that [(2)
[0 (X 2) equals

3 then the remainder of the division
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Folalquestions n exam 25 | Answered: 0
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Folalquestions n exam 25 | Answered: 0
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Question No. 14

Find the value of a such

| Answered: 0

: 3
1 that the remainder of

3 + 1022

r +

+azx + 3
1

is zero.

e
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Question No, 18

The vertical asymptote to the graph of f(x)
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Question No, 19

Finditho funetion f(2) such that (fg)(z)
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Question No. 16

Which of the following functions is 1

F={(3.5), (6,0, (7.-2) (1.-5)}
F={(4-3)

{(-3,-2),(0.4). 32) (1.5

F={(6.-3), (0!5), (4.-2) (1 .2




Question No. 17

Find the axis of symmetry of y
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Question No. 15

solve the inequality




al questions in exam: 25 | Answered: 0

Question No. 10







Question No. 3

plox number and f(z) =2 ~2? ~12. [fz —alisa fn f(x) then

Lt a bo a o

® 2% aisa factor of f

® —x+alsa factor of [t

f(z ta) =0
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Question No 1\

Find the fi
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Question No. 13

The equation y = 3% can be written u

|
@ x=1+logy

9 x J-\l()g, y
x = logg(y + 1)
y=1+logyx
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Question No. 1

| Find the function f(z) such that (fg)(z
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Question No. 5

Giventhat f(x) = 6x* + x2 + 5x
|
| @x-1

®x4+2

12,

@ x-2

x+1
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actorof [(x)
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%4 XY - AX 12, then one of the llowing i
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Which of the following statements is always true

The graph of a quadratic function is a straight line

The graph of a quadratic function passes through the point (0, 0)

range of a quadratic function is the set of all real numbers

symmetry passes through thewertex
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